3 - 16-03-2015 - Management Accounting

FYBEM - SEM U

Q.1 A] State whether following statement is True or | alse tAny %)

|
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Provision for Tax is current Liabihty

Acid- test Ratio s also known as gquick Ratio

Loan tund 1s part of sources of fund.

Capital Geanng Ratio s Balance sheet Ratio
Standard current Ratio 15 211

Goodwill is part ot source ot tund

Working capital=Current Asset -Current Liabilities.
Stock 1s hguid Asset.

Operating and financial leverage is same.

' B] Expand the following abbreviations. (Any 7)
?. 1. NPV
= 2 IRR
3. EBIT
4. ARR
] 5. CFS
6. EPS
7. NOI
8. EBI
9. FV
10. ROI
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-2.A] Rearrange the below statement in vertical form.

2V Hours

10 In common size statement capital employed is taken as 200% in case of Balance sheet.

Trading & profit & loss A/C for the year ended 31-12-2004

Particulars | Rs. Particulars Rs. |

To opening stock 35,000 | By sales 8,30,000 |

To purchase 7,50,000 | By closing stock | 80,000

To Gross Profit 1,25,000

9,10,000 9,10,000

To Depreciation 18,000 | By Goss Profit | 1,25,000 i

To other expenses 37,000 | By Interest 5000 |

To Tax provision 20,000 R
To Proposed Dividend | 8,000 |
| To Net Profit | 47,000 el
I | 1,30,000 130,000 |
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Balgnce shect as on 317 Dec, - ﬁ
. ‘ Rs.,
| / o B 5
tiabilities Rs. ‘ \f“; 24 G0G _
Nhare Capatal | 1,530,000 (lv»-1 C RO OO0 :
Rank overdrati 19,000 i Stock 6u _‘fﬁ.! i i
: TR Debtors - } -
POrediogs | 40.8 o Building | 46,057 ;
Provivion for tay 200000 Tand and Buddmg 3 ?4 sUUW.; :
f ' p: } { i 3
TN . dendd | % 000 Machwery 19000 4 :
! l i {‘{\‘-\ t!lll\l\i\.ll\i b }‘. l\ | JI \WL‘]\L‘,(I(H)L]\"IH ‘; (N, 3
PROBE& Toss A C 90,000 | Prepaid Ex| 1327875
|2 - |
: 3117‘3[5 !

\ ; : . i . " March,2013,
QR totlowing s the Balan ¢ sheet of MUS Suren ©Ltd as on 317 Marc

¢ §t
Balance sheet as on 11

P

Q.3.A] Following are

Balance shee

I iabilities
¥ quity share ¢ npntni

lt' o prefere nce shme

Capitt 1l
i :ene__!_dl Reserv e

8 o De l'\murg
L rcduors

| HI”Q payal ablt.

March,

2013
: . B chh Rs. !
1 l}:-t) UH() “Land & Buildm;’\2 $' "’_ ()_Q_(_)QOJ
I \UU(HJ Ni¢15l11ncr\ 12,50, UUOW
| Furniture '100_%
12,00,000 | Investment ; 90,000 ',
g 50000 [ Stock 135,000
4"1"0”0 000 [ Debtors | 50,000
150.000 | Cash 40,000—-1
1 TBills receivable | 35.000 |
79,00,000 ] 1900000

t on that date.

repare a common size Balance shieerin vertical form.

I'rading & Profit & 1.oss &/Gof Samir Ltd for the ve

ar ending 31" March, 2014 &

l Parnculars

Profit & Loss AiC
»»»»» 'Rs. Part:culass Tﬁs __J'
__To opening stock | 1.45.000 0 | By&ales 1 7.50,000

| To purchase

6,10,000 | By closing :stock

1 5 U()O i

[ To Gross Profit 1.50,000 —
9,05,00 9,05,000
LI‘O Sundry profit | 80,000 By Gross Profit 1,50,000 |
| To Net Profit 70,000 R
i _[1,50000 7 1.50,000 |
Balance sheet
 Liabilities Rs. Assets Rs, -
Share Capital 7,00,000
3i{eserw: & Surplus 50,000 | Fixed Assets w
| Net Profit 70,000 Stock 1,55.000
[_Bgn_k_mrgi_ggﬁ___ 33,000 | Debtors | 180,000
. Creditors 1.5 1,500 .50 000 ___Cash 1,20.000 |
! i 3=\
L. 11005000 —110,05,000 ]
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OR

B From the following nformation. prepare an estimate of the worki8ng capital.
Production 30,000 units
Cost sheet per unit:-

2 Raw matenals

6

[abor i
Overheads 2
(1% Total cost 9
o Profit 1
10
. [. Material in hand 2 months requirement
] 2. Production time | month.

3. Finished goods in store 3 months.

4. Credit for materials 2 months

5. Credit allowed to customers 3 months

6. Cash Balance Rs. 40,000

7. Labor & overheads/are I month outstanding.

| Sales” 10,50,000 |
Variable. Cost | 7,67,500
Fixed Cost 75,000
Interest 1,10,000

! Tax (30%)
Calculate operating, financial & combined leverage.

4 &

(15

]
5
EM Zenith Lid. financial information for the year ended 31% March.2013.
%

“B] Calculate combine leverage from following information.

| Particulars P Q i
| Sales 1 7,50,000 | 8,50,000
| Variable cost | 6,00,000 | 6,37.500
| Fixed cost 50,000 | 50,000

| Interest 50,000 | 1,00,000

OR

? You are required 1o caleulate the tollowing ratios-current Ratio, quick ratio, Gross Profit Ratio, Net
; Profit Ratio, Stock Turnover Rauo, Debtors Turnover Ratio, and Creditors Tumnover Ratio,

(15}

(08)

(07)

%
%()ne-UP Ltd has equity share capital of Rs. 5, 00,000 divided into shares of Rs. 100 each. It wishes to raise

}unher Rs. 3, 00,000 for expansion scheme.

. ¥
| i‘ he company plans following alternative:-
4. By issuing equity shares only.

S A R e e e IR
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b. Rs.1, 00,000 by issuing equity shares & Rs. 2, 00,000 through debentures @10%. P.a.



- y
o ¢
¢. By rasing term loan at 10% p.a.
d  Rs. 1.00.000 by issuing equity shares & Rs. 2.00.000 by issuing 8% preference shares.
You are required to suggest the best alternative assuring that the EBIT after expansion is Rs.

[.30.000 & corporate tax is 35% (15)
J-3.A] What are the factor affecting the working capital requirement? (08)
B] Function of management accountant (07)
OR
(13)

).5.B] Write short note.(Any 3)

Balance Sheet Ratio

Objective of management Accounting

Difference in Cash Flow & Fund flow statement
Revenue Statement Ratio

Difference in Operating leverage & Financial leverage

T aen o
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